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Questions : 1 

 

Ans: 11 

92 - 12 = 80 

72 - 32 = 40 

62 - 52 = 11 

Questions : 2 



 

 

 

 

Ans: 8 

(17 + 8 + 6) - (4 + 5 + 9) = 13 

(16 + 1 + 5) - (8 + 7 + 2) = 5 

(5 + 11 + 9) - (7 + 3 + 6) = 8 

Questions : 3 



 

 

 

 

Ans: 

41 

46 

Start top left and move along the top row, then back along the second etc, in the sequence +2, -

1, +3 etc. 

Questions : 4 



 

 

 

 

Ans: 121 

72 - 61 = 11; 11 x 11 = 121. 

Questions : 5 

 



 

 

 

Ans: 35 

16 + 22 + 24 = 62 

3 x 9 = 27 

62 - 27 = 35. 

 


